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E 2xesinz+wZecosa:

1. If y = 227, find ==

2. Find the limit. Sin L{)( sin 3X
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i = fon T e
A0 K>0
B.
1 = |- [-12 =(2
C. T
p. 3
4
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3. If y = cos™!(2z), find (cot (y))*.
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4. Compute f”(e), if f(z) = In(lnz).

A.

B.
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e
e2
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5. Using logarithmic differentiation, the derivative of y = z(€) is:

A. 2 (e” +Inx) %
B. €® (z + z()) Zﬂ \J,: e zf\ X

[
C. e*(1/z +Inx) Lol % x(,>
D. gDz — lé/ - & [y’\ Y + € X
E

. |z®e?(1/z + Inz) \j, .
Yy = ‘?/(6 axX t X

6. At what point on the curve y = 1+ 5e” — 4z is the tangent line parallel to the line
x—y=2>57

A. (In3,4—4lnd) [2}’: Sl = ,
B. [(0,6) v

C. (1,5¢ —3) X=

D. (ln%,lO—éLln%)

E. (5,5¢° — 19)




7. Suppose f(z) = tanh(l — tanz). Find f'(%).
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8. Suppose f(1) =4 and f'(1) =3. If

then ¢'(1) equals

a2 g2 zm?)

B.

N W

<=
O
—~
~—
i
N
i}

C.

=W N




9. Find the slope of the tangent line to the curve

© >

Q

m O

sin(z +y) =4z — 4y
g) [Cos(x-i—%](lq- y,') = ﬁ'- L/%’
%’ cos(x+y) + 4 ?,' = Yo cosxty)

' H-cos (X+@
I +cos (x+y)

lew%IWMWI%

/
= 4= cos(n)
y} /[% %,:) T W+ cesf)

10. Let h(z) = 7 ig%c . Calculate (2), if f(2) = =3,9(2) = 5,/'(2) = 2, and ¢/(2) = 6.
5 g (1 F)e6) - 246 ¥
cy i+ £60)*

D. 22 -
S s (o006 - 26

(1+6)°




11. A particle’s velocity graph, v(t), is pictured below. Which of the following are true?

12.

2
v(t)
1
0
0 1 2 3 4 5 6 7

I. The particle is speeding up when 3 <t < 5.
II. The acceleration is positive when 0 < ¢ < 2.
III. The particle is moving in a positive direction when 0 < ¢ < 7.
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. Tand II

. Il only

. |II and III
. T and III

. T only

Newton’s Law of Cooling states that the rate of cooling of an object is proportional to
the termperature difference between the object and its surroundings. Suppose a roast
turkey has a temperature of 180°C in an oven. At 12:00pm the turkey is removed from
the oven and placed in a room where the temperature is 20°C. At 1:00pm the turkey has
cooled to 140°C. What is the temperature of the turkey at 2:00pm?

. [110°C Ts =20

. 80°C

. 120°C Y= \90-20 = |60
. 90°C

. 100°C %(\): IH0-20 = 120 = 160 e

y(@)= 160 “ = (60 G) = 70
TE=yD+Te= W+20=1/0

k(1)




